

$$m = \lim_{x \rightarrow \infty} \left(\frac{x^2 - 3x + 1}{x(x-1)} - \frac{2x}{x} - \frac{2}{x} \right) = 1 - 2 = -1$$

$$n = \lim_{x \rightarrow \infty} \left(\frac{x^2 - 3x + 1}{x-1} - 2x - 2 + x \right) = \lim_{x \rightarrow \infty} \left(\frac{x^2 - 3x + 1 - x^2 - x + 2}{x-1} \right) = \lim_{x \rightarrow \infty} \left(\frac{-4x + 3}{x-1} \right) = -4$$

$x \rightarrow -\infty$ אס תתקבלים תוצאות אחרות $y = -x - 4$: זהו גרף הפונקציה

$$④ \quad y' = \frac{(2x-3)(x-1) - (x^2-3x+1)}{(x-1)^2} - 2 = \frac{2x^2 - 5x + 3 - x^2 + 3x - 1}{(x-1)^2} - 2 = \frac{x^2 - 2x + 2}{(x-1)^2} - 2$$

הפונקציה היא קובץ (עולה או יורד) אצל הנקודה 0-6

$$2(x-1)^2 = x^2 - 2x + 2$$

$$x^2 - 2x = 0 \rightarrow x = 0, 2$$

| | | | | |
|----|---|---|---|---|
| -1 | 0 | 1 | 2 | 3 |
| - | + | + | - | + |
| ↘ | ↗ | ↘ | ↗ | ↘ |

min (0, -3)
max (2, -1)

④

$1 < x < 2$, $0 < x < 1$: הפונקציה עולה

$x > 2$, $x < 0$: הפונקציה יורדת

